University of Utah
Math 1090, Fall 2009
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Midterm Exam # 1
Time: 50 minutes

No books, notes, calculators. Show all work. Check vour answers.
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Problem 2: (4 points) Consider the points £ =
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Problem 3: (7 points) Solve the following system of equations:
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Problem 4: (4 points) A manufacturer makes and sells calculators for $25 each. Fixed
costs are $1800 and variable costs are $5 per unit. (a) Write the total cost, revenue and profit
functions. (b) Find the break-even point. xoe I ii.,fmig Accky
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Problem 5: ({7 points) A computer retail store will buy 600 units at $100 each, but Gniv
400 units if they are $200 each. The wholesaler is willing to supply 700 units at $200, but
only 300 at $100 each. Assuming that the supply and demand functions are linear: (a) Find
the supply and demand functions (using p for price and ¢ for quantity) (b) Find the market
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